
Quest ce que le cadeau  I' - ? ( )Quel nombre se trouve dans chaque cadeau?
7 × 5 = 4 × 4 = 5 × 5 =4 × 9 = 3 × 6 = 6 × 3 =2 × 3 = 9 × 8 = 9 × 7 =8 × 2 = 2 × 3 = 2 × 4 =7 × 8 = 5 × 9 = 9 × 7 =6 × = 24 4 × = 8 4 × = 284 × = 28 5 × = 35 3 × = 98 × = 72 4 × = 20 2 × = 124 × = 20 8 × = 48 9 × = 274 × = 28 8 × = 72 4 × = 8× 8 = 48 × 8 = 72 × 9 = 45× 3 = 15 × 5 = 30 × 4 = 28× 9 = 63 × 3 = 6 × 9 = 36× 3 = 21 × 5 = 20 × 3 = 21× 7 = 28 × 2 = 18 × 9 = 18
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Quest ce que le cadeau  I  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
7 × 5 = 35 4 × 4 = 16 5 × 5 = 254 × 9 = 36 3 × 6 = 18 6 × 3 = 182 × 3 = 6 9 × 8 = 72 9 × 7 = 638 × 2 = 16 2 × 3 = 6 2 × 4 = 87 × 8 = 56 5 × 9 = 45 9 × 7 = 636 × 4 = 24 4 × 2 = 8 4 × 7 = 284 × 7 = 28 5 × 7 = 35 3 × 3 = 98 × 9 = 72 4 × 5 = 20 2 × 6 = 124 × 5 = 20 8 × 6 = 48 9 × 3 = 274 × 7 = 28 8 × 9 = 72 4 × 2 = 86 × 8 = 48 9 × 8 = 72 5 × 9 = 455 × 3 = 15 6 × 5 = 30 7 × 4 = 287 × 9 = 63 2 × 3 = 6 4 × 9 = 367 × 3 = 21 4 × 5 = 20 7 × 3 = 214 × 7 = 28 9 × 2 = 18 2 × 9 = 18
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